
Experiment Hg(0) DMHg HgP HgP
evasion evasion surf seafloor

Base 3.69 0.07 1.12 0.57
Hg(II)→MM Hg 2× 3.77 0.08 1.03 0.47
0.5× 3.65 0.06 1.17 0.64
MMHg→ Hg(II) 2× 3.67 0.06 1.14 0.63
0.5× 3.71 0.07 1.10 0.49
Hg(II)→ Hg(0) 2× 3.75 0.06 1.06 0.43
0.5× 3.66 0.07 1.15 0.66
Hg(0)→ Hg(II) 2× 3.68 0.07 1.13 0.66
0.5× 3.70 0.07 1.11 0.46
MMHg→ Hg(0) 2× 3.72 0.06 1.10 0.56
0.5× 3.66 0.08 1.14 0.59
Hg(II)→ DMHg 2× 3.66 0.12 1.10 0.53
0.5× 3.71 0.04 1.12 0.62
MMHg→ DMHg 2× 3.70 0.07 1.12 0.62
0.5× 3.69 0.07 1.12 0.50
DMHg→MMHg 2× 3.68 0.08 1.11 0.53
0.5× 3.70 0.06 1.12 0.60
Hg(0) Evasion 2× 4.14 0.04 0.70 0.40
0.5× 2.96 0.10 1.81 1.06
DMHg Evasion 2× 3.65 0.06 1.17 0.67
0.5× 3.65 0.06 1.17 0.67


